





Direction : select the option that
is related to the fifth number in
the same way as the second
number is related to the first
number and the fourth number is
related to the third number:

feer 99 fdsea &1 T99 B o
'ﬁhﬁﬁ?ﬁﬁﬂTi#%ﬁﬁruaﬂ?=ﬁﬁﬁﬁrﬁr

(a) 525 (b) 775

qﬂlﬂiﬁ, (d) 600



75 13

If the relation between given
number 75: 1728, then which
one is not correct ?

gfe & 715 = P 49 75 : 1728 B
ey 8, O D9 9T 9l 78l 87

(a) 13 : 64 “biés:zwx

(c) @9 : 3197 (d) 17 : §12




In a certain code language,
‘PASSION’ is written as
‘PRNZDNG* and ¢ T’ is
N PANZDN <
PA SSI 0 2 g:ritten as ‘VFJWDPI’. What is

correct word of ‘VSJJYBT’ ?
S 1 .
16 lﬂzﬁﬁfﬁﬁ HC AIYT § 'PASSION' &I

Ls ?B'Srm. o Add &  PRNZDNG 3 'RESPECT ®
'VFJWDPI' for@r &rar 8| 'VSJJYBT'
< g el I T 5 ?

s A‘N)‘%ﬁ‘ ks, 'f«) CONCEPT (b) SYNONYM

(c) COMPACT (d) CONFUSE




Direction : select the option that
7 '( is related to the fifth number in
‘ the same way as the second
number is related to the first
number and the fourth number is

7’% 13 +:F related to the third number:
e 99 Aeey &1 999 & o
X 1317 Uredl ST 9 SY TeR Hed ®
| Y N HE&AT Ugell AT | Haferd
i P § 3k =eft e ded W 9
F LI [ LA
ﬁPHX x\é‘t X3 :98 :: 9: 124 :9? :: 20
.:a-—x!.o.ml X1 4 (a) 14 v"{'l

X2, ’t“ (c) 19 (d) 17



Direction: Select the set in which
the numbers are related in the
same way as are the numbers of
the following sets.

(NOTE: Operations should be
performed on the whole numbers,
without breaking down the
numbers into its constituent
digits.

E.g. 13- Operations on 13 such as
| adding / deleting /multiplying
etc. to 13 can be performed.
Breaking down 13 into 1 and 3
and then performing
mathematical operations on 1 and
3 is NOT allowed)



S

/%

Cj

(

SN

' tié;é'm (26, 189, 79)
(a) (15, 50, 35)
(b) (25, 60, 13)

(c) (80, 120, 70)
(A4 (87, 180, 13)

Ci

S Y=g BT T34 diforg forad
fr=ferRaa aq=al o & Gefed
=

(A : =Rl & favH J9g &1 9394
| (FF < TR P S GHUTH
3ipl # fawifora fey fa=r, qoul Hw=amst
IR fspany fAsrfea & s =Ry |
IEIEVTT €13’ — 13 IR Gishaw oy &
13 # Sir$AT /9T /O HIAT SIS
13 # f&ar &1 G&Har 81 13 &I 1 3R
3 # fawurforg &=r IR fR 1 3R 3
T Ay S D Al T8
1)



ain code

‘BITTU’ is wri \h
63 ¢ gﬁﬂ is written as ‘3
3 ’. How will ‘HARSH’ be

written in that language?

U fARed $e Wl H, ‘BITTU &I
‘6 27 60 60 63’ 3R ‘ARMAN’ &I ‘3
5439342=ﬁ|@7\-r|1a1%| S HTHT

wﬁa4724

(b) 24 3|24 0 24




Select the figure that will replace
the question mark (?) in the

following figure series.

I ATHIA BT T4 B ol fA=ferlRad

Thfd e # ued f=rE (?) &1 -
ol |

NI A I RN

Q]
BN @




Which of the following numbers

will replace the question mark (?)
in the given series?

6 12 2’5’% >4 133 5133 ;1@1%2[; ad
|3I‘:I|(=*I|i§ﬁ T

3\/'??" 313 "l q%@mﬁmm@)aﬁmﬁa

5, 13, 33, 71, 133, ?
(a) 223 (b) 215

<jii> (c) 225 (d) 181



first she turns 1

After that she turns

clock wise, then she turr@

Anti clock wise followed bL?f{
e clock wise. In which direction is

she facing now?

T STR—URTH B 3R & D

e+ Y YOI Bl 8 AR Ugel 98

gféromad faem # 135° g 8| S
(a) North-egast / STR gd 91¢ 98 225° IHEd gHal 7, R 98
(b) East / Qd 45° I gHA! B 3R SHD q1]
(c) South-west / &feror gftes | 90° gferomad Efl?ﬁ 8| 39 SHBT 9

West/ qftaH fpg e #) 3R 87

N Rani is starting fa zing north west



A & B means ‘A is the son of B’

A # B means ‘A is the sister of B’
A @ B means ‘A is the brother of
B?

A % B means ‘A is the father of B’
A - B means ‘A is the daughter of
B!

A * B means ‘A is the wife of B’
HW-V-U%T@S#R*Q %P,
then how is W related to P?

A&B I IS T A BH YA &
A#BHT A 8 ‘A, B! 989 &
A@B®HT 3R T ‘A, BT HS &
A% B @ 31 g ‘A, B®HT faaT &



A-B@HT A 8 ‘A, B! 91 &
A*BHI 3 & ‘A, B Tl &
gfe W-V-U%T@S#R*Q%P
dl W, P 9 59 yor Hefg 27

(a) Grand mother /U€ IR
(b) Grand father/ U BIE

V(.a-)’C’ousin [ DI

(d) Brother / ms‘



A series is given with one term
missing . Select the correct

alternative from the given one
th ill complete iy

Z1KA, ZLYJ, zows, zroB,ZV ' K
TP a4 T3 & Rrad va ug ga
gl Ry ¢ fipew # & 98 wd R

g Sl Gl DI GRT BT |
ZIKA, ZLQJ, ZOWS, ZRCB,?

(a) ZUIM m K @
fa2dmm'ALNEL G L v




5,343, 465

b o

Which of the following numbers
will replace the question mark (?)
in the given series?
6,24,33,46.5, _?

apSTrefeaRad § @ @ A we § T3
si@e ¥ wed fag (?) o ufawenfid
A7
6,24,33,46.5, ? C

(a) 70.5 § | ibi 30.255 )
(c) 96.759  (d) 126.25 3

 diows)



Select the figure that will replace

7\ the question mark (?) in the
following figure series.
o Y 3THfd BT I dY o fA=feried
d" w?ﬂ'@ﬁ[ H@el H 7o f7rE (?) &1 wImE
ol |
A |

\o/ A

e
el Ll &

O




Select the figure that will replace

the question mark (?) in the
following figure series.

SY 3MTHfd BT 99 H} ol faw=aferfad
Arpfa s@er § ueH =g (?) &1 wH
ol |

$ $
2R Y,
$ $ $
$ S $
@ & %ﬁ
s $ 3 $ @
E N
b)| ™ @ <=
s  $ s S
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In a certain code language, ‘Jin
Fin Min’ means ‘SSC takes Exam’,
Tin @ Zin’ means ‘Exam
Oriented MG CONCEPT’ and ‘Kin
Tin Pin’ means. Oriented toward
success’. Which of the following is
the code for ‘MG CONCEPT’?

Ue fAf¥9a ®Is 9T #,°Jin Fin Min’
&1 31T & ‘SSC takes Exam’, ‘Tin
Fin Zin’ &7 31¢f € ‘Exam Oriented
MG CONCEPT’ 3R ‘Kin Tin Pin’
%1 31 Oriented toward success’
g | fA=forRaa & & @19 a1 ‘MG
CONCEPT’ & fo1q @ 87




IMVORMNJ
PR fmi|)C &

O

In a certain code language,
‘IMPORTANT" is written as
‘PRPMIUCQX’ and ‘SIM/IQBL? is
written as ‘JOLWOBTOE, ow

will ‘AUSTRA@ written in
that language? L =

e fARed oe W #,
‘IMPORTANT’ &I ‘PRPMIUCQX’
3R ‘SIMILARLY’ &1 ‘JOLWOBTOC’
forer SiraT 8 | S99 HINT |
‘AUSTRALIA’ 9 forar Simem?

(2) vUEXBILNE. ic) UUXEIBNGE]

(b) ELNBIEXUU (d) UMXBILUEN_



07 Which of the following numbers
@ will replacse. the quest10}1 mark (?)
w20 in @W&:
frefeoed 3 @ a1 @ wer &
gel § e g (?) @ wforenfi

0 100, 20, 5,1.5°?
() 1

(c) 0.725 (d) 1.25



In a certain code language, ZF.PP’
is written as ‘75’ and ‘EAT’ is
written as ‘50’. How will ‘AXE’ be
written in that language?

U AREa $c Wi #, ‘FEE’ 91 75’
AR ‘EAT ®I ‘50’ forar orar & | S9
AT § ‘AXE’ &9 forar Sirg?

(a) 70 (b) 50

(c) 80 \/(,df 60

D



Direction: Select the set in which
the numbers are NOT related in
the same way as are the numbers
of the following sets.

(NOTE: Operations should be
performed on the whole numbers,
without breaking down the
numbers into its constituent
digits.

E.g. 13- Operations on 13 such as

| adding / deleting /multiplying
etc. to 13 can be performed.
Breaking down 13 into 1 and 3

and then performing

mathematical operations on 1 and

3 is NOT allowed)
(16, 33, 67) (10, 21, 43)



@

X211 4041

C@

03 1/43)

XZ‘H
(a) (25, 51, 103)

(b) (26, 53, 107)
(c) (75, 151, 303)
(Ad) (66, 131, 263)

(A : TRl © favq 998 @1 99+
| @ < GRI B b HHUcH
el F fauifora fey fa=m, qoi e
R i fAerfed &1 S =iy |
SETEXYT ‘13’ — 13 W Hisharg o9 b

13 H SIS/ "SHT /O HRAT g4I
13 ¥ foar <1 9&ar 81 13 &1 1 3R
3 # fauifora s 3k fhw 1 3R 3
O WfhaTy Hx &I IrgAfa T8l

21) (16, 33, 67) (10, 21, 43)



Nt

X3+ X310 x3-)

’3-Q

Which of the following numbers
will replace the question mark (?)

ig‘\bﬁ given sqgies?

4,13,39,116,3467
Prffed & @ o g & T

SEar # ueA fag (?) &1 ufavenfia
Y
4,13,39,116,246?

(a) 870 Mss @

(c) 1435 (d) 1555

R3-Q




Yl

Which of the following numbers
will replace the question mark (?)
in the given series?

ﬁﬂfﬁmﬁﬁﬁﬁ?ﬁm?ﬂﬂé

70 65
@ (c) 90 (d) 75



BCAKG
1S
(

Y 26162

X3y X3 X3 XX

In a certain code language,
‘CAKE’ is written as ‘72 78 48 66’

and ‘MOON’ is written as ‘42 36
e ———— ——

E_’._g_ 39°’. How will ‘N@E’ be written

in that language?

ts fAff"d @ Wi #, ‘CAKE’ &I

“72 78 48 66’ 3R ‘MOON’ &I ‘42

36 36 39’ for@r Srar 21 SS9 H9INT H

SITQT?




Select the number that will
replace the question mark (?) in
the following figure series.

99 G&T BT II9 BN ol FferRad
AHia gEar d ue &g (?) &1 wE

a6 X o
A

f\
1%_ 23-' 60
36 ‘04 W=
(a) 89 (b) 117

(c) 163 (d) 102



In a certain code language,

""*BEE%R R’ is written as
QA V ’. How will ‘_j_PARKING’ be

written in that language?
Voweh +S ve fARed @ 9 ¥, ‘BUILDER’ &
Consovact -6 ‘VZNFXJL’ 99 99T § ‘PARKING’
&y ferar smgan?
(a) JLFNEHA ENHA

ﬂ{ﬁ ) C_
"‘jq— (c) IELFMIB (d) EIFLBIM

T R ()



In a certain code language,

SEQUENCE ’ is written :z
_ ‘“USQNEEEC’, How will }ZYGOTE ’
dﬁ- e written in that language?
ovM/ vg ke @ W ¥, ‘SEQUENCE

P ‘ZYGOTE ’ 99 9NT § ‘MARGIN’
o9 fora@r sreT?

da‘@TOGE (b) YTOEZG

(c) gTYOEG (d) ETYOZG



In a certain code language,
‘BLOCK’ is written as ‘LBPKC’.
(B LO C ]Q How wﬂl@e written in
K C_ 0 L\ B that anguage? |
Hc HNT H, ‘BLOCK’ &I

‘L E) %( ‘LBPKC SS9 99T ¥ ‘MARGIN’ ©9

for@r Sgm?
(a) OHQHBL (b) OHBHQL
(c) OBHQHL (9Y OHHQBL

.m%f‘ 0




Which of the following numbers
will replace the question mark (?)

in th .giv%q;eriefsfé(s
7,19,76.67,3 5_,%'3

PR 4 & o & mo & T

@ H yed =g (?) & ufawenfud

HYN?

16,9,27,19,76,67,335,7

(a) 650 ] 325 (EE)

(c) 415 (d) 90



Which of the following numbers
will replace the question mark (?)

in the gwer, serigs?
First row : ,51"33

Second rowgﬁ . 25

Third row:

fr=folRaa & 9 a?ﬁ %’ﬁ &1 o g
gEar | ued 7 (?) 31 ufaenfig
HIAT?

9o Gfdd : 32, 51, 33

fgdra dfew: 28, 33, 25

qarg ufew: 16, 27, ?

(a) 19 17

(c) 15 (d) 18



Which of the following numbers

will replace the question mark (?)
in the given series?
730:740::832:?

fr=foRaa & & @9 < & @ T8
| ﬁmﬁa@)aﬁuﬁwﬁﬁ

0
730:740::832:? 3\15 .ﬁw'X’lQ
|2y 845 (b) 841

(c) 852 ‘ (d) 827



(x4

Direction: Select the set in which
‘-—————'_'-_-—-_-_
e numbers are related in the

same way as are the numEers Oi

‘.__-_—_-“—-_

_the following sets.

(NOTE: Operations should be
performed on the whole numbers,
without breaking down the
numbers into its constituent
digits.

E.g. 13- Operations on 13 such as
| adding / deleting /multiplying
etc. to 13 can be performed.
Breaking down 13 into 1 and 3
and then performing
mathematical operations on 1 and
3 is NOT allowed)

(5, 63, 1) (4, 36, 2)



I9 GqwEd BT 999 Diforg forad

ol & SN Heferd
2% 126 21(5,63%)1) (q’%/';r)mﬁ

s 72 B | (& < BRI B 9Th Huch
Y+-=1 S e o o
R Gfhad fAerfea & S Aty |

( ) ST ‘13’ — 13 W Hisha o &

@ )6”8: 12, 2) ISﬁW/W/WWHﬁ
13 H f&ar o1 9&ar 81 13 &1 1 3R

C (b) (7, 40, 3) 2 3 el T & dhe &
( 1o1T18, 260, 2 WW—" S et o o ol

(d) (5, 81,4) ) (5,63,1) (4,36, 2)




7:85 similar to ;

y@:u?_\ Sp) 3:31

. . ggéﬂs (d) 2:9
A+ 6
Yq36  EEE
S



Which of the following numbers
will replace the question mark (?)

! \,M Master, Ember, Bombay, animal,

abdomen,?

(,Q) m‘nﬂm Master, Ember, Bombay, animal,
} abdomen,?
fr=fofea & | o9 & 9= g

e (?) @ ufaeenfda &fi?
Master, Ember, Bombay, animal,
C\ abdomen,?

(a) Money (b) ambush

(c) deform ™ (d) crime



Which of the following numbers
will replace the question mark (?)

_12:441::23:?
Prefafed § @ 99 & g g

fag (?) @ wfoenfid a¥fi?

12:441::23:7?
(a) 6211 \131/1024

(c) 625 (d) 1066



Which of the following numbers
will replace the question mark (?)

237 T\
&>M_g:82::BOY:?
fforfed & | @19 4 F@r ue
ferg (?) & ufceenfud H?
MAN:82::BOY:?

(a) 23 (of 24 @
(c) 26 (d) 28



If AMBER is written as 27 and
BROWN is written as 14 then

/—W
% ~ IRAMBER @I 27 forar Y, 3R

3. BROWN %[ _14 for@T Y @ GREEN
& armrtaa W \ 4
_ar36 (b) 24 4

(c) 39 (d) 28




Which of the following numbers
will replace the question mark (?)
in the given series?

23:26::17:65::29:? || =F |
¥ QB @ e € T

gEdr H yeA g (?) & ufaeenfud
HAT?
23:26::17:65::29:7?
(a) 120 (b) 145
122 (d) 169



If Q is written as 10 FAX is
written as 50 then XEROX will

"ll-.___-
be?

Ife Q @I 10 for@r WY 3R FAX &1
50 forar WU @ XEROX &1 &
forar Srg?

(a) 45 (b) 46

/m{ (d) 50
Fant o) wdidign



Which of the following numbers
will replace the question mark (?)

o71:213::268:7
ﬁ'_‘;llﬁ'@ﬁ | I G HE&AT g

frg (?) @) ufrenfia H¥?
371:213::268:?

(@) 146 T[(6) 136

(c) 247 (d) 345




Which of the following numbers
will replace the question mark (?)

42:26::110:?
ffoiad § | o9 A & w7
forg (?) 91 uforenfad H?
42:56::110:?

(a) 18 s 132

(c) 141 ‘Ii143



Which of the following numbers
will replace the question mark (?)

78,56,:30,2 O

fr=foRaa & | @19 A 9@ weA
forg (?) @1 wfoeenfia H¥07?
78,56,30,?

(a) 22 (b) O

(c) 3 (d) 14



12345 is coded as 182764125.

—p T

How will 65428 be coded in that
language?

12345 P 182764125 forar &l &
dl_65428 & &Y fer@r STgm?
(a) 21512463511

(b) 149016025
(c) 216125747512_

L/}ﬂf§16125§§8512
.__-.---—"" Y ——



63m40, and

Q,G /,(g FOETUS is coded as~516,
/CONSENT be coded as ?

HOUSE & 340 3R FOETUS &I

5 La},dg 516 for@r I &, O CONSENT &9
SWMXN 9{"1}’ forar Sgam?

O\qu’ \/mﬁ (b) 542

(c) 455 (d) 360



PAYMENT is coded as 7174552
then how wouldw_YgUNGER be

coded?

\_{ M€ N T PAYMENT & 7174552 forar <ar
¢ /\» l { g, I YOUNGER &9 for@r Simgam?

5%

(a) 7153540 121751
) 5514758

2
:rr b‘ 1 (9}’_{@3 5759@ |
M f(}/"ﬁ‘\/
L



B AC\K

Gad(\q {2 1R6RY | |6
oﬁ;ﬁ, 2 |7 3\

X 3R]

‘BACK’ coded as 2325215’
‘CAME’ coded as ‘2125117’ what

is the code for ‘GBJH’ in that

code? §° y%‘}

‘BACK’ &I 2325215’ for@r oar 2
3N ‘CAME’ & ‘2125117’ feran
WaT 8, o ‘GBJH’ D9 forar sum?

(¢) 1323771 () 1323111
e degc (B)



w \C ‘FONT’ coded as ‘714’ ‘GLUFE’
coded as ‘494’ what is the code

F 0 N T- for ‘JOKE’ in that code?
‘FONT’ &I ‘714’ for@r &ar g 3R

Bl ferar g,
S Aa O iy

N
| ><3‘| M o) 308 VM/OO jOK
q | U & (c) 450  (d) 466 QW

et =



Direction: Select the set in which
the numbers are related in the

ame way as are the numbers of
\/:he following sets.
(NOTE: Operations should be
performed on the whole numbers,
without breaking down the
numbers into its constituent
digits.
E.g. 13- Operations on 13 such as
| adding / deleting /multiplying
etc. to 13 can be performed.
Breaking down 13 into 1 and 3
and then performing

mathematical operations on 1 and
(78, 165, 726) 3 js NOT allowed)

(56, 121, 242)



frr=ferRaa aq==al & Wy Hefed
¥ AL g

(/43 e somt & fwn v o e
(Y] Gt

' Wﬂﬁ?ﬂﬁﬁwﬁﬁaﬁwfﬁql
@ +8L}\ IQIERTT 13’ — 13 TR ¥fhand o b
4 (2 220) 13 ¥ SIS/ HSHT/ oM AT TS

}%}& 13 ¥ f&ar &1 ¥dhar 81 13 &1 1 3R
28 3 Rt BT ok AR 1 9K 3

l°H44 88,66)  ufrdr Wik R B AR T
(d) (62, 98, 187) #)) (56, 121, 242) (78, 165, 726)

/:lﬁs 312) Y W &1 999 Hiforg e
2)




Direction: Select the set in which
the numbers are related in the
same way as are the numbers of
the following sets.

(NOTE: Operations should be
performed on the whole numbers,
without breaking down the
numbers into its constituent
digits.

E.g. 13- Operations on 13 such as
| adding / deleting /multiplying
etc. to 13 can be performed.
Breaking down 13 into 1 and 3
and then performing

mathematical operations on 1 and
‘31: 41: 47, 3 is NOT EI.IIOWEd'

(79, 89, 101)



(3?,—
\WJ (v,m 8], '0’)

2y 1L

'3\,‘11,%?)

S

SN W BT 949 Piforg o
ferforRaa Tzl @ S et
2 |

(e : SRl & favq 99gg &1 @A
B | ((GF < GERN B SHAd GHUCH
3l H fawmfora fdu fa=m, qof e
R g fAsrfea o S 9niay |
IGIEYT ‘13’ — 13 WX ik o9 b
13 § ST/ ST/ T[ON HIAT MR
13 § fohar < 9&ar 81 13 &I 1 3R
3 ¥ fawfora &= iR fhv 1 3R 3

>é) (4(\47 59] (b) (53, 61, 67) T W HE A 31_3"11:3 T
L/[,er(z’g\?:w 43) (d) (17, 19, 23) §)) (79, 89, 101) (31, 41, 47)



V., LT
GHN RV VY
| 2

g@r@%’@

Fa 4 %.;:

m@- written as 53146
e whishon in

wﬁrﬁaﬁmwﬁ HUNGRY &I
253146 99 WINT § SAFETY 9
for@r smg?

(a) 651423 )( (b) 342651
(c) 246135 K v 413256

Ovdon®



Whlf_h of the fol ingn bt;r/slﬁz\.s
qu n mark’(?)

8, 20, 60 4, 150, 6, 300, 12':'“;'iD
ﬁﬁﬁ%ﬁﬁﬁﬁﬂﬁrwmﬂ

QL@\W oﬁio/f{

. 3

8, 20, 4, 60, 4, 150, 6, 300, 12 \?@?
( (a) 450; 3§ D) (b) 850, 20

(c) 450, 25 @ (d) 850, 18









